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1. What is the Clark-Fisher hypothesis? (2 Points)
Clark-Fisher hypothesis states that as nations become industrialized, there is an inevitable shift of employment from one sector to the other. In fact, as productivity increases in one sector, the labor force moves to another.
2. List 2 strategies that service operations managers can adopt due to mismatch between variable demand and time-perishable capacity, as far as adjusting service capacity is concerned. (2 Points)
Due to mismatch between variable demand and time-perishable capacity, service operation managers can adopt the following strategies as far as adjusting service capacity is concerned:

· Use part time employees during peak hours / days / months.

· Schedule work shift to vary workforce needs according to demand.

· Increase the customer self-service content of the service.
3. List 4 strategies a Service Company can use to achieve “Differentiation”. (2 Points)
A Service Company might opt for the following strategies to achieve “Differentiation”:

· Making the intangible tangible

· Customizing the standard product.

· Reducing perceived risk.

· Giving attention to personnel training.

· Controlling quality.
4. What is the difference between “Basic Research” and “Applied Research”? (2 Points)
While “Basic Research” refers to any activity directed toward increases in knowledge without specific applications, “Applied Research” denotes any activity directed toward gaining knowledge that will meet a specific need.
5. List any 2 challenges faced by service operation managers when adopting new technology in services? (2 Points)
Some challenges faced by service operation managers when adopting new technology in services are as follows:
· Degree of customer acceptance.
· Customer willingness and ability to learn new skills allowing them to operate that very technology.

· Customer willingness and readiness to forgo some benefits because of the new technology.

· Employees need for retraining, therefore, their willingness and response to retraining is also an issue.

· The unanimous acceptance of all companies of that specific service sector for the new technology.

· The cost of the new technology.

· Possibility of easy imitation of that new technology by competitors.
6. In which aspects can an “Unconditional Service Guarantee” promote organizational effectiveness? (2 Points)

Unconditional Service Guarantee can promote the organizational effectiveness in the following aspects:

· Focuses on the customer.

· Sets clear standards.

· Guarantees feedback.

· Promotes an understanding of the service delivery system.

· Builds customer loyalty.
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